
1 cf=j= 076/077 10 jflif{s ah]6 -?=_ 11 cfof]hgfsf] s"n nfut -?=_

2 ah]6 pkzLif{s g+= -s_ cfGtl/s != g]kfn ;/sf/ -s_ cfGtl/s != g]kfn ;/sf/

3 dGqfno ;+l3o dfldnf tyf ;fdfGo k|zf;g dGqfno @= gu/kflnsf @= ;+:yf

4 sfof{Gjog ug]{ lgsfo slknj:t' gu/kflnsfsf] sfof{no slknj:t' #= hg;xeflutf #= hg;xeflutf

5 sfo{qmdsf] gfd t/fO{ dw]z ;Dj[l4 sfo{qmd -v_ j}b]lzs != C0f -v_ j}b]lzs != C0f

6 :yfg  -s_ lhNnf slknj:t' @= cg'bfg @= cg'bfg

      -v_ uf=lj=;=÷g=kf=÷j8f g+= -u_ ;6xL b/

7 cfof]hgf z'? ePsf] ldlt 2076/77 -3_ bft[ ;+:yf

8 cfof]hgf k"/f x'g] ldlt
@)&& c;f/ d;fGt ;Dd

9 cfof]hgf÷sfof{no k|d'vsf] gfd >L xl/ k|;fb 1jfnL

-/sd ?= xhf/df_

kl/df0f efl/t kl/df0f efl/t kl/df0f efl/t kl/df0f efl/t vr{ kl/df0f efl/t vr{

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18

ejg lgdf{0f

1
>L sf]l^u|fd lg=df=lj=ejg lgdf{)f 

j*f g+ 5
uf]6f 1.05 100.00 2778.00 1.05 100.00 1.30 100.00 2778.00 1.30 100.00 2778.00 1.30 123.81 2778.00

100.00 2778.00 100.00 2778.00 2778.00 2778.00
2778.00 2778.0 2778.0 2778.0

jflif{s k|ult

2778.00 2778.00

365852 2500.00 2500.00

278.00 278.00

0 0

0 0

0 0

0

s|=;+= sfo{ ljj/0f OsfO{
aflif{s sfo{ nIo

aflif{s ah]6

aflif{s k|ult
k|lta]bg cjlw ;Ddsf]] k|ult

s"n hDdf

cfof]hgfsf] s'n dWo] xfn;Dd ;DkGg
s}lkmotnIo k|ult

vr{

hDdf


